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1. Fertilizer is : 

(A) Organic materials 

(B)  Inorganic materials 

(C)  Nanomaterials 

(D)  Both (A) and (B) 

2. Which are not macronutrients in 

fertilizers ? 

(A) Nitrogen 

(B)  Phosphorus 

(C)  Magnesium 

(D)  Iron 

3. The dimension of nonomaterials is less 

than ......... . 

(A) 1 nm 

(B)  10 nm 

(C)  100 nm 

(D)  1000 nm 

4. The colour of Nanogold  particle is : 

(A) Orange 

(B)  Yellow 

(C)  Red 

(D)  Above all 

5. Pozzolana reacts with lime producing : 

(A) Tri-calcium silicate 

(B)  Di-calcium silicate 

(C)  Calcium silicate 

(D)  Calcium aluminate 

6. .......... is responsible for controlling the 

strength and soundness of portland 

cement. 

(A) SiO2 

(B)  Al2O3 

(C)  Fe2O3 

(D)  CaO 

7. Example of an antiferromagnetic  

substance is : 

(A) MnO 

(B)  FeO 

(C)  CO3O4 

(D)  All of the above 

8. In which of the following the magnetic 

moments align themselves parallel to 

each other ? 

(A) Diamagnetic materials 

(B)  Paramagnetic materials 

(C)  Ferromagnetic materials 

(D)  Ferrimagnetic materials 
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9. What gas is in LPG ? 

(A) Butane 

(B)  Propane 

(C)  Iso-butane 

(D)  All of the above 

10. Petroleum means : 

(A) oil from rock 

(B)  oil from well 

(C)  oil from deep earth 

(D)  All of the above 

11. The example(s) of micronutrients is/are : 

(A) Copper 

(B)  Zinc 

(C)  Chlorine 

(D)  All of the above 

12. The three number of the fertilizer label 

are : 

(A) N P K 

(B)  K M P 

(C)  D A P 

(D)  None of the above 

13. One nanometer is equal to : 

(A) 610 m  

(B)  910 m  

(C)  1210 m  

(D)  1510 m  

14. Nanomaterials synthesised by sol-gel 

technique results in a foam like structure 

called : 

(A) Gel 

(B)  Arogel 

(C)  Aerosol 

(D)  Foam 

15. .......... oil is employed for lubricating 

texture machinery. 

(A) Vegetable oil 

(B)  Kerosene oil 

(C)  Olive oil 

(D)  Lard oil 

16. ......... oil is used for producing lubricants 

for internal combustion engines. 

(A) Grease oil 

(B)  Olive oil 

(C)  Lard oil 

(D)  Rapeseed oil 

17. Paramagnetic materials have relative 

permeability : 

(A) < 1 

(B)  > 1 

(C)  equal to 1 

(D)  equal to ferromagnetic materials 
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18. Hysteresis loop in case of magnetically 

hard materials is more in ............ shape as 

compared to magnetically soft materials. 

(A) Rectangular 

(B)  Circular 

(C)  Triangular 

(D)  All of the above 

19. The fertilizer potash is composed of : 

(A) 52% K and 48% Cl 

(B)  70% K and 30% Cl 

(C)  30% K and 70% Cl 

(D)  100% K 

20. The impurities present in phosphate 

fertilizers are : 

(A) Fluorides 

(B)  Cadmium 

(C)  Uranium 

(D)  All of the above 

21. Natural gas is mostly : 

(A) H2 

(B)  N2 

(C)  O2 

(D)  CH4 

22. The main elements present in petroleum 

are : 

(A) carbon and nitrogen 

(B)  carbon and oxygen 

(C)  nitrogen and oxygen 

(D)  carbon and hydrogen 

23. .......... is used in solar cell. 

(A) Carbon nanotubes 

(B)  Nanorods 

(C)  Nanobots 

(D)  All of the above 

24. Example of an organic nanomaterials or 

nanoparticles : 

(A) Zinc oxide 

(B)  Silica 

(C)  Carbon nanotubes 

(D)  Gold 

25. Viscosity index is measure for the change 

of viscosity with change in : 

(A) pressure 

(B)  temperature 

(C)  volume 

(D)  All of the above 
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26. Type of lubrication system used in 

aircraft engines : 

(A) wet sump system 

(B)  dry sump system 

(C)  splash system 

(D)  mist lubrication 

27. Which of the following is non-

ferromagnetic ? 

(A) Nickel 

(B)  Iron 

(C)  Cobalt 

(D)  Manganese 

28. Magnetism of the centre of Bar magnet  

is : 

(A) Zero 

(B)  Negative 

(C)  Maximum 

(D)  Minimum 

29. The chemical formula of urea  is : 

(A)    2 2

S
||

NH —C—NH  

(B)  2 2

O
||

NH —C—NH  

(C)  2

O
||

R—C—NH  

(D)  All of the above 

30. Urea contains .......... % of Nitrogen. 

(A) 26 

(B)  36 

(C)  46 

(D)  66 

31. Pressure fed oiling is not used with : 

(A) cylinder walls 

(B)  hydraulic lifter 

(C)  camshaft bearings 

(D)  crankshaft bearings 

32. In most automobiles, which lubrication 

system is commonly used ? 

(A) Petrol system 

(B)  Splash system 

(C)  Pressure system 

(D)  Gravity system 
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33. According to their dimensions the nano-

structure are categorized into ......... types. 

(A) one 

(B)  two 

(C)  three 

(D)  four 

34. Which one is used in cancer  

therapeutics ? 

(A) Nanobots 

(B)  Carbon nanotubes 

(C)  Carbon nanorods 

(D)  None of the above 

35. When of the following is/are biofuels ? 

(A) Methane 

(B)  Methanol 

(C)  Gasoline 

(D)  All of the above 

36. What does CNG stand for ? 

(A) Combined Natural Gas 

(B)  Clean Natural Gas 

(C)  Carbon-Nitrogen Gas 

(D)  Compressed Natural Gas 

37. The magnetic dipoles in a ferrimagnetic 

material is represented as : 

(A)   

(B)     

(C)    

(D)     

38. When does a ferromagnetic material 

become paramagnetic materials ? 

(A) Never 

(B)  At Curie temperature 

(C)  Below Curie temperature 

(D)  Above Curie temperature 

39. .......... fertilizer supplies only one major 

plant nutrient. 

(A) Double 

(B)  Straight 

(C)  Complete 

(D)  Complex 
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40. .......... is not a nitrogenous fertilizer. 

(A) Superphosphate of lime 

(B)  Urea 

(C)  Calcium cyanamide 

(D)  Ammonium sulphate 

41. Why are the detergents used as air 

additives ? 

(A) To increase fire point 

(B)  To prevent foaming 

(C)  To reduce viscosity 

(D)  To prevent sludge formation 

42. Which of the following oils has the 

highest viscosity ? 

(A) SAE–10 

(B)  SAE–20 

(C)  SAE–30 

(D)  SAE–40 

43. Sodalime glass is also known as : 

(A) hard glass 

(B)  soft glass 

(C)  fine glass 

(D)  lime glass 

44. An example of traditional ceramic is : 

(A) carbides 

(B)  nitrides 

(C)  boron nitrides 

(D)  silicate glass 

45. Cetane number is the measure of : 

(A) viscosity of fuel 

(B)  ignition quality 

(C)  calorific value 

(D)  number of carbon molecules 

46. The anti-knock  value of a gasoline 

engine is defined in terms of : 

(A) knock number 

(B)  anti-knock number 

(C)  cetane number 

(D)  octane number 

47. The chemical fertilizer is essential for 

better rhizobial nitrogen fixation, is : 

(A) sulphur 

(B)  sodium 

(C)  phosphorus 

(D)  potassium 
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48. Most commonly used nitrogen containing 

fertilizer in India is : 

(A) sodium nitrate 

(B)  ammonia 

(C)  urea 

(D)  calcium nitrate 

49. Which of the following is not a 

classification of glass ? 

(A) soda-bromine glass 

(B)  soda-lime glass 

(C)  potash-lead glass 

(D)  potash-lime glass 

50. Which of the following is the property of 

glass ? 

(A) Absorb and refract light 

(B)  Beautiful colours 

(C)  High polish 

(D)  All of the above 

51. The relation between cetane number and 

octane number in fuels in IC engines : 

(A) No relation 

(B)  Both are equal 

(C)  Directly proportional 

(D)  Inversely proportional 

52. Octane number of n-heptane is : 

(A) 0 

(B)  10 

(C)  20 

(D)  50 

53. Toxicity of nanomaterials is not primarily 

dependent on : 

(A) surface area 

(B)  surface charge 

(C)  particle sine 

(D)  thermal conductivity 

54. SEM is : 

(A) Scanning Electron Microscope 

(B)  Scanning Electrode Microscope 

(C)  Surface Electrode Materials 

(D)  Surface Electron Microscope 

55. The fire point of an oil is about .......... 

higher than the flash point. 

(A) 5–10°C 

(B)  5–20°C 

(C)  5–30°C 

(D)  5–40°C 
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56. Which statement is correct ? 

(A) Lower the flash point easier to 

ignite 

(B)  Higher the flash point easier to 

ignite 

(C)  Lower the flash point tougher to 

ignite 

(D)  None of the above 

57. How is triple superphosphate made ? 

(A) Phosphate rock + CaSiO3 

(B)  Phosphate rock + H2SO4 

(C)  Phosphate rock + H3PO2 

(D)  Phosphate rock + H3PO4 

58. A balanced fertilizer for plant is : 

(A) ammonium sulphate 

(B)  urea 

(C)  compost 

(D)  calcium phosphate 

59. Flash point of gasoline is : 

(A) – 450°F 

(B)  45°F 

(C)  – 10°F 

(D)  10°F 

60. What is the fire point of diesel ? 

(A) 140°F 

(B)  – 140°F 

(C)  200°F 

(D)  – 200°F 

61. Example of hand glass : 

(A) Potash-lime glass 

(B)  Soda-lime glass 

(C)  Potash-lead glass 

(D)  Common glass 

62. Glass becomes on heating : 

(A) hard 

(B)  soft 

(C)  gas 

(D)  None of the above 

63. For effective cutting of steel with hand 

hacksaw, which of the following coolants 

is suitable ? 

(A) Grease 

(B)  Cutting oil 

(C)  Kerosene oil 

(D)  Petrol 
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64. Which of the following is the temperature 

at which lubricant will start to flow when 

poured ? 

(A) Viscosity 

(B)  Triple point 

(C)  Melting temperature 

(D)  Pour point 

65. For blue colour silver nano-materials the 

size and shape of silver is around : 

(A) 10 mm 

(B)  40 nm 

(C)  50 mm 

(D)  40 pm 

66. Example of inorganic nanotube  

materials : 

(A) WS2 

(B)  TiO2 

(C)  ZnO 

(D)  Above all 

67. Maximum permissible limit of magnesia 

content in ordinary portland cement is : 

(A) 4% 

(B)  6% 

(C)  8% 

(D)  10% 

68. The development of strength of cement 

and its fitness are : 

(A) not related 

(B)  directly proportional 

(C)  inversely proportional 

(D)  randomly related 

69. The essential constituent of portland 

cement is : 

(A) Lime 

(B)  Silica 

(C)  Alumina 

(D)  All of the above 

70. Excess alkalies in cement cause : 

(A) staining 

(B)  efflorescence 

(C)  alkali aggregate cement 

(D)  All of the above 

71. Octane number is : 

(A) Rating of IC engine power 

(B)  No. of carbon molecules 

(C)  Measurement of the quality of 

diesel fuel 

(D)  Measurement of the quality of 

gasoline 
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72. The octane number of isooctane is : 

(A) 25 

(B)  75 

(C)  50 

(D)  100 

73. Which type of lubricant are calcium and 

sodium ? 

(A) Solid 

(B)  Semi-solid 

(C)  Liquid 

(D)  Permanent 

74. The flash point of lubricant should be 

.......... . 

(A) > 650°F 

(B)  < 100°F 

(C)  300-400°F 

(D)  400-500°F 

75. Vicat apparatus is used for : 

(A) Fineness test 

(B)  Soundness test 

(C)  Consistency test 

(D)  All of the above 

76. The % of SiO2 present in ordinary port-

land cement : 

(A) 5-10% 

(B)  10-17% 

(C)  17-25% 

(D)  25-50% 

77. .......... is popularly called glass bricks. 

(A) Wired glass 

(B)  Safety glass 

(C)  Shielding glass 

(D)  Structural glass 

78. Which of the following is used to prepare 

soluble glass ? 

(A) Quartz sand 

(B)  PbO2 

(C)  NaOH 

(D)  Mg(OH)2 + SiO2 

79. Which of the following lubricants is 

obtained by fractional distillation of 

petroleum ? 

(A) Coolant 

(B)  Synthetic oils 

(C)  Fatty oils 

(D)  Mineral oil 
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80. The lubricants for transformers must have 

quality of good : 

(A) low load capacity 

(B)  less oiliness 

(C)  dielectric strength 

(D)  no resistance to oxygen 

81. In textile industries ......... are added to the 

lubricants. 

(A) Oxygen gas 

(B)  Carbon 

(C)  Inhibitors 

(D)  Black-P 

82. What are the lubricants used for railway 

tracks ? 

(A) Heavy oil 

(B)  Grease 

(C)  Vegetable oil 

(D)  Graphite 

83. Oil emulsions are the most effective 

lubricants in : 

(A) engines 

(B)  gears 

(C)  light cutting 

(D)  heavy cutting 

84. Graphite is a : 

(A) solid lubricant 

(B)  semi-liquid lubricant 

(C)  liquid lubricant 

(D)  None of the above 

85. The most important property of nano-

materials is : 

(A) friction 

(B)  force 

(C)  temperature 

(D)  elastic 

86. The first talk about nanotechnology was 

given by : 

(A) Bohr 

(B)  Newton 

(C)  Einstein 

(D)  Richard Feyman 
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87. The specific gravity of particles of 

ordinary portland cement is : 

(A) 1 

(B)  2.15 

(C)  4.25 

(D)  3.15 

88. ........... contains maximum % of 

dicalcium silicate. 

(A) Portland cement 

(B)  Sulphate resisting cement 

(C)  Rapid hardening cement 

(D)  Low heat cement 

89. Viscosity  numbering system is used to 

rate the ........... of engine, oil. 

(A) oil temperature 

(B)  oil weight 

(C)  oil gravity 

(D)  thickness 

90. The most important quality of any 

lubricant is : 

(A) viscosity 

(B)  surface tension 

(C)  specific gravity 

(D)  specific het 

91. Initial setting time of ordinary portland 

cement is : 

(A) 30 minutes 

(B)  1 hour 

(C)  5 hours 

(D)  12 hours 

92. Final setting time of ordinary portland 

cement should not be greater than : 

(A) 6 hours 

(B)  10 hours 

(C)  24 hours 

(D)  72 hours 
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93. ........... substance is used to decrease 

knocking in diesel fuel. 

(A) Tetra ethyl lead 

(B)  Di-ethyl lead 

(C)  Hydrogen peroxide 

(D)  Acetone peroxide 

94. Which of the following exhaust gas 

produces least harmless components after 

its combustion ? 

(A) NO2 

(B)  N2 

(C)  CO2 

(D)  CO 

95. Early attainment of strength in rapid 

hardening cement is mainly due to : 

(A) Tri-calcium Aluminate 

(B)  Tri-calcium Silicate 

(C)  Fine grinding 

(D)  Gypsum 

96. The purpose of adding pozzolana in 

cement is :  

(A) to decrease shrinkage 

(B)  to decrease heat of hydration 

(C)  to increase durability 

(D)  to increase strength 

97. .......... oil is used for making lubricants 

for railway engines. 

(A) Lard oil 

(B)  Rapessed oil 

(C)  Vegetable oil 

(D)  Petroleum oil 

98. Which of the following are the types of 

synthetic lubricants ? 

(A) Silicate esters 

(B)  Dibasic acid esters 

(C)  Organo-phosphate esters 

(D)  All of the above 

99. Slow setting cement have higher 

percentage of : 

(A) Gypsum 

(B)  Tri-calcium silicate 

(C)  Tri-calcium aluminate 

(D)  Di-calcium phosphate 

100. Strength of cement is mainly due to : 

(A) CS2 

(B)  C2 S 

(C)  C3 S 

(D)  C4 AF 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the  correct 
answer and mark the same in the OMR 
Answer-Sheet as per the direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

lgh mŸkj Nk¡Vuk gSA mŸkj dks OMR vkUlj&’khV esa 

lEcfU/kr iz’u la[;k esa fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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